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Q. No. Question
1. Which of the following is the least likely source of geographical data?

Freitade! HIordt Ui Alfed! daid T SHTH ld 31187
(A) Census data (SO |G (B)  Social media posts(STHISId HIETH UIRC)
(C) Remote Sensing (RHTE A=A (D)  Field Surveys (& HT)

2. A positive skewness value indicates:
JHRIAD Thd-14 Yoo Jfeld B
(A) The data is symmetrically distributed (S¢T THHH [ddRd BT SITal)
(B) The data has no mode (SCTHE AIS HTa))
(C) The mean is less than the median (He0® HEIDBTUET HHT 3MT8)
(D) The mean is greater than the median (H&I& HEIHTUET HIST 3Tg)

3. Probability is defined as:
GHTHT 7RI GRS el 3Te:

(A) The average outcome of an event (PTHHHTAT TRIERT TRUTH)

(B) The ratio of successful outcomes to unsuccessful outcomes
CERSI IR IR E R R RIS E TR

(C) The measure of the likelihood that an event will occur
(TETE] TeHT IS udTedT FRIdd HISTHTY)

(D) The difference between the maximum and minimum outcomes

(HTS 3IOT fohHT TRUMATAER® BReh)

4.  Which of the following values indicates the strongest correlation?
DIV HeI Jald Aolgd vedad a=iad?
(A) -0.95 B) -0.1
(C) 0.0 (D) 0.80

5. If you want to test for a relationship between two categorical variables, which test would you use?
SR TEeTe aF WY gargeid deuie araofl st sRid, aR gl SIUd! draul daTaRTd?
(A) Pearson correlation (13RI Tgga ) (B) T test (1K)
(C) ANOVA (3fUlran) (D) Chi-square test (T THER <XC)

6. Which of the following techniques is commonly used in the creation of contour maps?
T TR TIR BIUITTST WTeiicTtop] BIO o2 JrET=Id: dTuRel SId?

(A) Interpolation (3EIUIGZ) (B) Reduced leveling (FATCIHRUT HH! o)

(C) Triangulation (1ot (D)  Benchmarking

7. The primary advantage of using a plane table for field surveys is:

&3 TI&UTTS GHIAh A dTURUITT UTAH® HrIgT 3Mg:
(A)  Its ability to measure magnetic bearings (b 1T feaRTs HISTUaTT Tt &)

(B) The real-time plotting of features directly onto the map

AT TR dRreTr d3r@-egH
(C) Its use in determining vertical angles (3@ d ®IH YR HRUGMTS! T ATWR)
(D) Its lightweight and portability (Te a5 g&d 30T GIfAfeeT 31R)
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10.

11.

12.

13.
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The Mercator projection is best known for:
Adhex UIoiaR A3t qatd Ui 3iTe:
(A) Preserving accurate distances (3{Te 3R ST H0))
(B) Representing areas accurately (&3 32 UfdfAfeied Hd 31Tg)
(C) Preserving angles and shapes of small areas (8T HFTE DI 30T 3HR ST H0)

(D) Showing true compass bearings for navigation

IS aFg HU 93171 grRaad 3Tg)

Which of the following is NOT a characteristic of the polyconic projection?
WU DI Ul b ToiaRI-Td dIRIeed ATgl?
(A) It uses multiple conic surfaces (8 3" P GEHTT ATUR)
(B) It provides accurate representation of distances along standard parallels
(C) Itis best for mapping large, global areas
(A&, SFTfde & HIUT HRUGMTS! § GaraH 31g)
(D) It minimizes distortion for regions near the standard parallels

@ T FHIR Saese T st fagpdt el aa)

The Chhtrpati Sambhajinagar city fall in which of the following UTM Projection Zone
BATCH FUTSITR ER WTeAade! ST UTM ToiaR Shde .

(A) 43 (B) 46

(C) 44 (D) 40

Which one of the following scholar laid the groundwork for modern physical geography?
WTeierde! HIuT UepT fagM 3nyfie UTgpfae Yiam uramHRuft et

(A) Immanuel Kant (sqrchb PI<)

(B)  Alexander von Humboldt (SIS FH galoC)

(©) \Voltaire @T?E‘Ié?)

(D) Alexander von Humboldt and Immanuel Kant (OISR €M galoc d SHYUS PHIT)

Which of the following approach allows for a more holistic understanding of complex environmental
processes?

WUt HIvrdT =¥ Taride waiaruiia fshar 3ifered Ty T Yuard Had HRdl?
(A)  Humanistic (HddraTdl) (B) Interdisciplinary (3fTaRIARIRGT)
(C) Disciplinary (fAEm=IET) (D) Technological (difAd®)

Who wrote the book entitled as ‘American History and Its Geographic Conditions’?

(A) W. M. Davis (Ssg. TH. Sfg) (B)  Ellsworth Huntlngton (kOde‘f gidice)

(C) Ratzel ((T®) (D)  Ellen Churchill Semple(To- IS YUs)
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14.

15.

16.
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Which of the following analysis method has goals likes building accurate generalizations with
predictive power by precise quantitative description of distribution, structure and organization and
relationship?

WU PHIvTT faIesoT Ugdimed fadRur, Ta-T 3nfor WeeT g Fas T 3 URHTuaTad
JUFTGR HITERT® YKIE S MG TR HRO IRIRE! ey 3ea?
(A)  Spatial Analysis (JTaf2Td fazoym) (B) Locational Analysis (R fazoym)
(C) Systematic Analysis (GGdRIR WEWT) (D)  Regional Analysis (Qm ﬁﬁmﬂ)

Which of the following statements are true regarding the Kuhn’s paradigms?
1) Kuhn’s paradigm gives useful guidelines for the understanding of the historical development.
2) Kuhn’s paradigm does not offer a complete explanation.
3) Kuhn’s paradigm offer a complete explanation.
4) The history of geography can be easily understood through the Kuhn’s paradigm.

WTATe U 10T faT Fe-T=ar UfaiR deeid I smea?

9) FeT ufaa Ui faewm gaeH Yvarird! Suged Arfeale ad 3.
) HeTd Ui AYU] WETHROT ¢d Tel.
3) PoTd Ufaa dguf eIl ¢d.
¥\ eI UAHFTER YT Side Hgol TG b,

(A) Statement 1 and 2 (faeT § 3MfOIR)

(B) Statement 1, 2 and 3 (fa&m g, 3 30T 3)

(C) Statement 1, 3 and 4 (faem ¢, 3 3MfOT ¥)

(D) Statement 1, 2, 3 and 4 (AU ¢, 3, 3 30T ¥)

Match the following pairs according to their precious work:

Author Books
1) Hartshorne i) Anthropogeographie
2) S. M. Ali Il) The quantitative Revolution and Theoretical Geography
3) Burton iii) The Geography of Puranas
4) Friedrich Ratzel iv) Nature of Geography
Qe siredT Jiedl Hieda oe- HRAAR JadT:
[NRCC g
%) BT i) AFIARIRTS
R) TY. TH. 3@ i) Tifege g wich onftr Yeifds yme
) g i) QRTUTE YIS
¥) heRdb o iv) YO Wy

(A)  1-ii, 2-i, 3-iv and 4-iii (2-ii, R-i, 3 -iv 30T ¥ -iii )
(B)  1-iv, 2-iii, 3-ii and 4-i (% -iv, R -iii, 3 -ii and ¥ -i)
(©)  1-ii, 2-iv, 3-i and 4-iii (] -ii, R -iv, 3 -i and ¥ -iii)
(D) 1-iii, 2-ii, 3-iv and 4-1 (% -iii, R -ii, 3 -ivand ¥ -i)
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17. Consider the following statements:

PET 2024 (9029)

1) High temperature accelerate the process of chemical weathering, especially in warm-humid re-

gions.

2) Sand-storms in the tropical than deserts have both erosive and transportive action.
3) Chemical weathering taking place in the lower layers may be termed as pedochemical weather-

ing.

Salts of sodium, potassium, calcium and magnesium are readily removed in hydration.

@ﬁaﬁmﬁﬁww

9) TSI IWI.GHE YIS I dIIHM e fagRur ufhas fad s=dd.

R) arsdcl Uell IV HaledIg UCRTe aregd! dlae &RU1 d 98- &H Sl

3) WoH W BT IS fAgRUTY USIb e f[agrur gt Il fod! 9Irss 2.

¥) STy, UICRigd, Hiszrad o TUR”T &R TS IHR0M T Y Jo[o] BT SIdld.
(A) Statements 1, 3, and 4 are correct and statement 2 is not correct.

(e 2, 3 30T ¥ TRIR R fAe™ R gHH 3R

(B) Statements 1, 2, and 3 are correct and statement 4 is not correct.

(faem ¢, 3101 3 RIS TR fau™ ¥ vl 3113)

(C) Statements 1 and 3 are correct but statements 2 and 4 are not correct.

(faem ¢ 31O 3 RIS TR fag™ R 3101 ¥ Db 3M18.)

(D) Statements 2, 3 and 4 are correct but statement 1 is not correct.

(e R, 3 3T ¥ RIS R YT L TP 3R

18. Which one of the following is not associated with the type of microflora soilmicroorganisms?

GTeie et HIUTdT U HTIShITRIRT AT Jeoiiaredt ThRIRh daeid gt

(A) Nematodes ((HICISY)

(C) Fungi (SR

(B) Bacteria (foraro)
(D) Algae (THUIY I

19. Match the pairs of soils types according to soil taxonomy along with traditional nomenclature is given

below:

Major Soil Group Soil Taxonomy Order

i) Alluvial Soil
i) Black Soil
iii) Red Soil
iv) Laterite Soil
v) Desert Soil
URURS ATHIBHE Hal
HQ Hal e
i) TMTes Tl gal
DEICIEE]
iii) ST Jal
iv) TexTSe gal
v) dIeddc! Jal
(A) i-b, ii-e, iii-a, iv-c, v-d
(C) i-c,ii-d, iii-e, iv-a, v-b

a) Entisol Aridisol

b) Alfisol Indceptisol Ultisol
c) Entisol Inceptisol Alfisol
d) Alfisol Ultisol Oxisol

e) Veritsol Inceptisol Entisol

a1 YT Sl JesaT:

(B) i-e, ii-a, iii-d, iv-b, v-c
(D) i-c, ii-e, iii-b, iv-d, v-a

Page 5 of 10



20.

21.

22.

23.

24.

25.
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Which of the following statements are precise regarding the electrical conductivity is used as an index
for the total salt content of irrigation water?

i) Excellent to good water Electrical Conductivity is 0 — 1 Millimhos/cm.

i1) Good to injurious water Electrical Conductivity is 1— 3 Millimhos/cm.

iii) Injurious to unsatisfactory Electrical Conductivity is 3 or above it Millimhos/cm.

GTeitd Uep! It faem Riae Srared THuT &R ARt fHe=iie UM arRedt snom= fagq
qedh A AgHId 3E® HTRd?
i) IPT o T UTuarITST fagd drgehd o-¢ fferag /A,
i) INTQ o BT RS UTugmTa! fayd argdar ¢-3 Mfarag /e,
iii) BHR® o STHIYUIHRS UTUARITS! faeq argerdr 3 fobar a1 v sifdrss fAferagia/adt,
(A) Statement i is not correct. (fAYT i I 3MTg. )
(B) Statement ii and iii are correct. (FAYT ii 30T iii SRR 3ATRd. )
(C) Statement i and iii are correct. (f&T i 30T jii SRISR 3M].)
(D) Statement i, ii and iii are correct. (ﬁ‘dﬁ i, i U RTTESRIER &ﬂéﬁ.)

Which of the satellite is suitable for large scale mapping?

TN THIUTAR HIUTET3T 10Tl 39U A 31872
(A) MODIS (\If$¥) (B) CARTOSAT (®ICic)
(C) SENTINEL (dfe®) (D) IKONOS (3HHIN)

If a pixel of an image is having 30m spatial resolution, how much ground area it would represents:
gferea fURiaHe 30 Hiex @it RENeRH e, d fdd! M3s &7 axida:

(A) 30m?(30 12 (B) 60 m2 (60 HP?)

(C) 90 m? (90 HP?) (D) 900 m? (900 HP)

What is spectral resolution of green band in the IKONOS data?

IKONOS S U d&d Waed NeegRM[ H1Y 31Tg?
(A) 0.45-0.52 micron (0.45-0.52 HIThHI) (B)  0.76-0.90 micron (0.76-0.90 HIehI-)
(C) 0.63-0.69 micron (0.63-0.69 HIThHI) (D)  0.52-0.60 micron (0.52-0.60 HIhI)

Which GPS surveying method is used for control point establishment?

g foig wITgATe! SHIvrdt Gps Tder U araRe SiTa?
(A) Static method (R Tgd) (B) Kinematic method (fp-HIc® Tgd)
(C) Absolute method (FRUE& Tgd) (D) Control method (AT Uga)

The orbits and satellite constellation have been designed in such a way that the user receives signals
from at least satellltes at any tlme

$&‘|T31Tfaf SUUg &= 3 AN IS%II%"I &l ﬁﬁ&ll‘éd DI ARG [HH

IUUGIH g PV doo! FRud U gIdra.
A) Three(?ﬁtl) (B)  Four (TR)
(©) Five (UM) (D) six (I8
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26.

217.

28.

29.

30.

31.

32.
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Geographical Information Systemis ............... and ............. technology.

YR HIfge TOmelt & ... 111 RERIEEIH]

(A) Digital and analogue (F&fSTee 30T SATGIT)
(B) Spatial and analogue (3BT SHTOT SHTAI)

(C) Digital and spatial (F&fStes 3for sradi)

(D) Spatial and manual (DTN 3101 HY3()

Major differences between Vector and Raster data models:
Jae 3101 IR STl Al aHeld T Thidh:
(A) Vector and raster are same data models (GaeX 30T IRCR THH ST HIs S 3ATed)
(B) Vector is continuous, whereas raster data model is discrete
(@R T 1A 3Rl TR IR Sl Ale® diTed 3dd)
(C) Vector and raster both are discrete (e 0T IR GI6! AT 3MTed)

(D) Vector is discrete, whereas raster data model is continuous

QTR WA 3Tg, TR IR Sl Ale® AIad 3Tg)

Which database model is most commonly used in Geographical Information System :
N - Y A anY C Y Y
Arfgd yurell T HIvd STy Aied Jdid SId aTaRa Siid-

(A) Hierarchical (30fle) (B) Network (Hed®)

(C) Relational (R&zM®) (D)  Object-Oriented (3fTevtac RUCS)
Who coined the term, 'Remote sensing'?

Tele YRAT g1 1 Il TR el

(A) J. C. Maxwell (SI. 5. HRIdD) (B)  Evelyn Pruitt (Tgfo gg2)

(C)  Wilbur Wright (fd@eR I130) (D) C.M. Thomsan (3. TH. Y1)
Rayleigh scattering occurs when particles are very compared to the wavelength of the
radiation:

I STRH= AR e AT ge-d Ul gy 3dTd degl ¥al e Bid:

(A) Large (H1®) (B) small (@gM)

(O) Equal size (FH 3TPHR) (D) Mixed (%)

Generally triangular pattern of rural settlements develop at
Preprongdt amior axain siedtey A2 fawRyd g,
(A) On confluence of two rivers (G- T&edT TTHER)
(B) Between two rivers and hills (G =T 3AT0T Coh T GREM)
(C) Between two hills (GIF CHedT GREM)
(D) On bank of the straight rivers (G dIgUITRIT AT HISTAR)

The concept of “Umland” was given by

«IHele” b HIuft faeh i,

(A) G. K. Zipf (S.%. SITh) (B) W. Christaller (S, fohcion)
(C) Van Cleef (&1 faon) (D) Le. Corbusier (1. HIGRR)
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33.

34.

35.

36.

37.

38.

39.

40.

The least developed area of the city is .........

(A) CBD (HldlS)) (B)
(©) Suburb (SUTR) (D)
Following are the stages of urbanization.
W 3.
A) 4 (B)
© 2 (D)

The concept of 'Rural- urban fringe' was first proposed by

YHa: W%ﬁ%ﬂmwﬁvﬁ

(A) James Vance (S &-Y) (B)

(C) Robin J. Pryor RTTaH of. TR (D)
Contribution of the textile industry to India's GDP is......
URA SISIUHE Yol HTUS IYNE HEHM.....

(A) 04% (B)

(C) 20% (D)

In which industry is silicon chips a major component?

DHIurT FANTEE Rifcre T forwd g1 g8 gcdh 3RIdN?

(A) Textile (gal) (B)
(©) Electronics c ) (D)
Which country is the largest consumer of internet?
DIV G FAIfew el UTed 3R?
(A) USA. (G T9.T) (B)
(C) Japan (STOT) (D)
When was the first public railway line opened?
YH: Hg] FTasT-dh Yed Als- it geit?
(A) 1815 (B)
(C) 1830 (D)

Match the following pairs.
Original Rock

PET 2024 (9029)

Downtown (FT&d 2M8Y)
Slum (USUg))

Mark Jefferson (Iﬂ$ @W?)
William Alonso (fA&ad 3o 1-)

15%
07%

Iron and steel (?ﬁ'e’ch?ﬂ'c{)
Automobile (Hﬁﬁﬁ]’é@)

China (@)

Germany

1825
1835

Metamorphic Rock

1.Sandstone i) Slate
2. Pankasham ii) Graphite
3. Limestone iii)Quartzite
4, Coal iv On the marble
WAt AR ST Sesdl:
s GSh SUTRIT TSh
1. ATIehTRA i) Tie
2. GehTeH i) YpTRc
3. grasiida iii) PIcasc
4. Pl iv ITHRAR
(A) 1-i, 2-iii, 3-ii and 4-iv (B)  1-iii, 2-i, 3-iv and 4-ii
(C)  1-ii, 2-i, 3-iii and 4-ii (D)  1-iv, 2-ii, 3-ii and 4-iii
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41. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason
(R), Read the statements and choose the correct answer using the code given below.
Assertion (A): Divergent plate margins are zones where oceanic plates move apart along mid-oceanic
ridges.
Regson (R): The movement of oceanic plates in opposite directions along mid-oceanic ridges leads to
the destruction of existing oceanic crust.
W31 giH faum a3t 3imed, T fau™ (A) 38 3T ho 31T 30 W HRU (R) 3 BIS hoO
3{Te, faum aran ftr @1l fd T die are ag Ik fAael
GfauTe (A): TIHS ST YUE B 3 & 3led o) HENNRIY YU HE-HeRITRIY Hedil
SIS 3T g,
HRUT (R): AH-HENITRII TIeRATHIE [9%G G HeRIFR YU d! gIaand [agd HeRTRE
$Hdd AN GIUAR HRUMY 3.
(A) Both assertion and reason are true, and the reason is the correct explanation for the assertion.
faTe 30T HRUT ! T 3HTed 30T HRUT g9 UfduTe-r TG WFIH 3718.)
(B) Both assertion and reason are true, but the reason is not the correct explanation for the asser-
tion.

faure 3o HRUI Gg! WY 3HTed, TR HRUN g UddIa-rd IRg TPIHRT ATg].)
(C) The assertion is true, but the reason is false (fA&T WX 31Tg, TR HRUI WIS 3MT8)
(D) The assertion is false, but the reason is true. (fA&T W< 3{Tg, TR HRUT VR 3113.)

42. Which type of rock is least affected by temperature changes?
AIEFT Sadiges Sl YhRAT Wed did HH! gHIad grar
(A) Crystalline rocks (B CHTIRG TSH)
(B) Coarse-grained rocks (dedsld Ted)
(C) Clastic sedimentary rocks (TR TG WS H)
(D) Igneous rocks (3T TSH)

43.  Which of the following is true about the formation of barchan dunes?
SR Ch ST fATHdiaTad Wieaie! S T 3g?

(A) Barchans are formed primarily due to an excess supply of sand.
(SRTUT YIS dred el SHidRed RIcarges daR gidld.)

(B) The crest of a barchan is divided into two horns downwind.
@EREURET RReR gF Rimaed fUTTe! 9rd.)

(C) The formation of barchans is fully understood by geologists.
(THRIRET IR@TUrE! T guigor THeer o11g.)

(D) Barchans form only in regions with no wind activity.
(SR W aATE fohan Tqe T UM daR gIdrd.)

44, Which of the following pairs is incorrect?

FIHAUD! BIOTT SIS ID T 3MTR?

(A) Channel gradient increase - Formation of alluvial cones
(JATE SARTA a6 - ST X! ()
(B)  Alluvial fans - Deposits at foothill zones(ST®15 U - UTIATRIT ST HITI Sai)

(C) Piedmont plains - Formed by coalescence of alluvial fans

(D)  Boulders deposition - Decrease in transporting capacity (1G-S SHT ®RU! - ATEd® &Hdd Uc)
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45.

46.

47.

48.

49.

50.
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Batholiths are typically described as:
SYTTer AH=IG: quiF ol WG
(A) Thin, horizontal layers (4Tde5, 3TSd XiR)
(B) Long, irregular, and undulating forms (@14, 3T 30 &3] TW=y)
(C) Circular and small formations (TBTHR ATOT S IT)
(D) Flat and smooth structures (4TS HTFOT s [BTd TR)

Which factor does not influence atmospheric humidity?
N [a} C
p Ul dcon]d] dldldrUlIdlc &IQddQWW@HHIéP

(A) Evaporation (STSTHd) (B)  Wind speed (dT=AT=lT 1)
(C) Precipitation (Toi=IgsT) (D) The colour of the sky (TR )

Which of the following best describes the classification of winds according to their occurrence and
characteristics?
HIUIA qrgTe et geT 3T IR aifeum watad quie da?
(A) Permanent winds, Seasonal winds, Local winds, and Breezes
(@TED aR, T IR, RIS IR 31107 aR)
(B) Primary circulation, Secondary circulation, Tertiary circulation
(OUfte SHfHERUT, gEH IR, Il ifHIRU)
(C) High pressure winds, Low pressure winds, Moderate winds
(3 gIEE dR, HHI G dR, 7Y dR)
(D) Polar winds, Tropical winds, temperate winds

(YA OR, WD IR, FHRIIW aR)

Which colour of visible light has the shortest wavelength?

TG UHTRITHT PHI0TT [T dITaie Fard HHT 3R
(A) Red (@10) (B) Yellow (fiden)
(C) Violet (@HGT) (D) Blue (M=)

Which of the following is a characteristic feature of the sub-tropical high pressure belt?
IU-IWUH e eT I qTe UgdTd afTsed Weiaud! HIvrd 3MTg?

(A) High temperatures throughout the year (@S4R 3= dTGHT)

(B) Regular and continuous high pressure (FRafd 3101 Tdd 3= qT4)

(C) High pressure due to thermal effects (Y@ Shacaa I ae)

(D) Dynamic induction due to Earth’s rotation (q?aﬁ%m U'P\’H'J:I'Uﬂﬂ&' ST SSARI)

What is the estimated absolute humidity when the temperature is 70°F?

ST dTIHM 70°F 3RTd degT 3aret TRyl e fobelt 3Tct?
A 1.9 (B) 4.1
(€) 57 (D) 4.0

*khkkkkikkkk
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